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> JI28E N2AEY SSEX0 26 HE
HE gal EXNESS 28§83 HEIC
ASEAE N ASAERMNE (FA)RE,
AT A N A SAETAME(FA)CIE,
AT A N ASASERAME(FA)C2E, =2 47286, 95909, 95910,
NI A N A SASERAE(FA)CIH, == 95911, 95912, 95913
NI A N A SASETAME(FA)CLE,
AT UGS N A SAS A E(FA)CEE
HEOo E& FAE, FIOE, Lt =&Y 2005.01.18
FIgEoz HE 9
2272+ ~ =22t
282t 2012.01.18 ~ 2012.04.17 =2t =£9|210] giS
A2 E 3| A NI EE(F) EHETHAE 2HS| AL (F)=02"
THOH 3| AF (F)=02 ABEAIR 22| 3] AL Q| EHH E A HIA(F)
M=o =x HHEAE0l =2 S22 MEIIE JIXSSF SAOZ KAt 60% 0lAS SAI| EXol0] HNEOl f28 =31
oo Jo = -
ol HE
> THAHS & (SH9| : BHOFSI BHOFEL %)
HEHE Sh=, o) =] [=l; S2E
KHak S (A) 277,485 251,377 -9.41
2 S (B) 2,219 4,815 116.97
AT AHG R A SH(FA) =XHAHE A (C=A-B) 275,265 246,562 -10.43
g@al £ =AU = 4 (D) 305,359 264,884 -13.25
JIZEJH2= %) (E=C/D%1000) 901.45 930.83 3.26
Z2(Class)g J|=0HA &=
AATRI A M A SA(FANCIE J1EIHA 881.96 906.11 2.74
AATRI AU M A SA(FA)C2E J1E0HA 882.65 906.64 2.72
AATRI AU M A S (FA!)CIE J1E0HA 883.30 907.583 2.74
AT AU M A S A (FA)CLE J1E0HA 884.08 908.55 2.77
AATRI AU M A S (FA)CHE J1E0HA 885.72 910.58 2.81
ZF)JIEJH201 EXNXIL HEENSAHS 22(0HY), E2(B)ote 22 L= SIS (MBS EE) =8 Al HEZ e JtHC2, HES &
AAtSHs deiE A FRH SH+2 Us JtAS YL
2. 2831 Y +UEEE
> 283
KLt 3R FAANE2 ASHE 200 SEFIIX 4= CHAI 2,000 EZOIE M0 0122 S22 ol UASLICH HE2H 2 FAAES
22 FAAES LA S0 25 ASHE EJASLICH SEEsY28 0] &E 22H LTRO(long term refinancing operation, &JIU& T2 1)
) Sofl 280U 39 2| FIUHES SSt R4S 2361HM SSAIEL ASHBM0| SH6HH 23 ASLICEH 01=22 HIIS=EAIt 0l
XD AN R, 22 IR A20AM RS54 222 HAIS0 el MEHEOZ FAAFL AZAEH0 2HME NSWSLICH 38 SOHA
= FAAEO SEFIAS 2,000 ZOE HOlA S22 6l 22ots 2&5S EUSLICE 0129 FIXNE SXHE XSEHASL DRI Y
oot SN2 2 FII0 THSt 2 S AE=2I1 K2 EQ YEES 23 S0| It AS52 HUYotsE QUSOIUSLILH S22 A= HE
L AX MUXOFSIEEUD SHES 2, M2 US0 CHst AL SOZ 2l &F ZII0 e It HRSLICH

= HEE= Xt 32 HlX+=E Stalots S EJSLICH HEZRH FAAZ0 2= =2 2ol HEF A= 4SHE 2012HA
SUHRCZ SAE IXIF2 HIS0l =2 HEN= Scloh AECHASLICH Lot HE2 1, 222 BHEFS0l 2L HHES 01=F SME 20|
= ADlcte 8= A0 Hets DIRSLICH HE= HEFE2 HME 0IScl &UHAZ BiE+AE0 =2 S|E AFZ HEHCZ F
It == ZASIASLICH A ZEZ2|29 0la AIJHHHE=AE2 3% ==0 01212 UASLICH




>» ENEE & 28 HE
Sad SHEME Sofl 78 MERADI0 CHE LAt SEHAH H = 0lF FAAMEL 4SHIt AIFEAJASLICH Deflt Olefs 2E 0] 2
S HA FAAIE2 @22 SHE YEHE )| a2 A2 AL S22 38 MY K=It =S8 2 200t BT K=
atE = UBXCH HES| SI=0 et JIH =F2 =010l= (A SLLICH 0l= SAl =M= 1201 S0 UL E3tE D A= A2 8
A, RE0AdsE AHQIO Cist RADE CHAl EHXI 1D A0 eHESHel 2 =EHGHAl 20t 2 LICtH 0leist Jt20l 43 0l= JIg &2 20114
AXIHI S E D 12 AHO| JAISHEHA, JIFE =0t XMHE3 JtSstE ez M2HELUICH
2 HEE= 0l J|gE AX NE0 =IotHAM tHEF L R IXNFSS BLA0 SEo LiZ HESLICH 2 SHUA &4 40l
SOIUAXC SHEI|HQ 2FHUAN S=2S RS AUEF =2 SIH HE R2HQ ollE 22 == U= SSSOl e 282 XBo U2 20l
O, 20| 2o 2 HS ALID U= ZI| L SB2 HE L& SSS0l e 2 & XIS Lh2r 22 LICH
> IIHER)LUE (Er51 < %)
= Z2 3ME z2 6ME Z 2 9HE 2212042
Dot NG ASH(FA)RSE 3.26 5.32 -7.84 -7.00
(Bl X< CHel & 1) (-1.24) (-0.75) (-1.60) (-1.06)
Z3F(Class)d &1&
ATl M ASA(FANCIE 2.74 4.22 -9.34 -8.99
(Bl X2 thel 814 (-1.76) (-1.85) (=3.10) (-3.05)
AP IRt SR A SR (FA)C28 2.72 4.22 -9.32 -8.95
(Blm X2 thel 814 (-1.78) (-1.85) (-3.09) (-3.02)
A TRl S M Al SR (FA)C3Y 2.74 4.27 -9.26 -8.88
(Bl XI== CHYl A1) (-1.76) (-1.80) (-3.02) (-2.95)
YIRS R A SR (FA)C4E 2.77 4.31 -9.19 -8.80
(Bl X2 thel 1) (-1.73) (-1.76) (-2.95) (-2.86)
MY IRt SRR A SR (FA)C5 2.81 4.41 -9.07 -8.63
(Bl X2 thel 1) (=1.70) (-1.67) (-2.83) (-2.70)
CDSC H#gHE S& +=UE
ATt Y H YA S A (FA)C_S& 2.79 4.37 -9.12 -8.72
(Blm X% thel 1) (=1.71) (-1.70) (-2.88) (-2.79)
Bl XI==(}XI0t3) 4.50 6.07 -6.24 -5.94
) Bl X 2=(#XI0t32) : KOSPI 90.0%, CD91 10.0%
* 9 ENARS2 W HdIE LHEHY & 0|cHe 2EHIE B&d= 22 Ot LICH
T zz2 14 zlz2 24 zl2 34 zl2 54
TG HYASA(FA)RE -7.00 11.60 46.12 51.42
(Bl X% CHel &34 (=1.086) (-2.49) (0.51) (20.41)
Z2(Class)g & &
AYTol Y H Y AS A (FANCIE -8.99 - - -
(Bl X% CHel &34 (-3.05) - - -
Al TRl Y B Al S R (FA)C2E -8.95 - - -
(Bl X4 Chel A1) (-3.02) - - -
Al TRl G B Al S R (FA)C3E -8.88 - - -
(Bl X4 Chel A1) (-2.95) - - -
AT Rl YT B A S R (FACAS -8.80 - - -
(HI X% CHEl & 1) (-2.86) - - -
Aol Y B A S R (FACH -8.63 - - -
(HI X% CHEl & 1) (-2.70) - - -
COSC HEHE s =&
MY TS HYASH(FA)C_EB -8.72 - - -
(HI X% CHHl &) (-2.79) - - -
gl W Xl = (X 0t3) -5.94 14.10 45.61 31.01
) Bl X =4=(#XI0t3) : KOSPI 90.0%, CD91 10.0%
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=3 O ALE SHX ct =aq B
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4 J| 5,376 0 0 9 0 0 99 9 5,493
g0l 9,144 0 16 188 0 32 13 9,394
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e =9 HIE e 20 HIE
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4 A SKE I3 3.21 9 A SUHSAH22B 1.87
5 =4 LG E =R 2.49 10 =4 el =3 1.70
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X A2 2 AL 36 0.19 35 0.19
FNEN 62 0.33 60 0.32
BIC T AHE 2HE] AH(ALEFRI X} 1 0.01 1 0.01
MH TRl G MY AISH(FA)C3E UBFALR 22| 3] Ab 0 0.00 0 0.00
EEE 99 0.52 96 0.52
EEE 0 0.00 0.00
O - ZH222 0 0.00 0.00
REEN 72 0.19 58 0.19
BHOW 5] Ab 114 0.30 93 0.30
BIC T AHE 2HE] AH(ALEFRI X} 2 0.01 2 0.01
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=5] 2.2897 0.3781 2.6678
MH TRl SR AIS A (FA)C2E =kl 21895 0.3336 25171
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